AP R RENFET 5 (RI5) B 5 B #

Sf6E2H3H (£|R)
Fx ENFE#S 1524 kv

(B ILHEREST)
BE ox e HIFE R (ko) 1 #Y3E Xt ERE |
a—F AH Y5 | EREE] | Efike) fEM) | {EFE) BER) | $EE) | REF)
13010072V A [y 7,100
130100|7 W A R 350 350| 10 1,080 648
13010072V A ES 6,500 6,500 10 1,080 540
130100|7 W A RI& 240 240 15 1,080
130340 ICA LA [y 12,290
130340 ICA LA Ri& 8,970 8,970 10 1,620 734
130340 ICA LA REAR 400 400[ 10 1,534
130340 ICA LA BB 2,840 2,840| 10 1,166 670
130400| 1% 5 iy 1,268
1304001 5 Eix 1,200 1,200 10 2,700 950
13040021 5 =y 8 4 2 1,620
130600{1 A T A HE 1,998
130600|1LA Z A ES 1,855 0 1,855 5 4,320 972
131100(B 3% e 20,768
131100 B3 B3 2,340 0 2,190 15 1,620 702
131100{B % B 435 0 405| 15 1,296 1,080
131100|H 3% RE 7,268 0 7,268 13 896 864
131100{A 3 Ri& 9,525 0 9,525| 15 1,674 702
131700|F v+ R [y 25,068
131700(%F v~ =45 15,400 0 9,220| 10 1,026 648
131700|%F v ~ & 8,668 0 5,668 10 918 864
131700(%F v~ AL 1,000 1,000{ 10 864
131800(IF S NWAE [y 2,406
131800(I1F 5 WA= & 316 276 0] 0.2 113




131800(I1F 3 WA E = 668 0 668 4 1,728 1,080
131800(1F 5 A= & 1,080 0 1,080 0.18 103
131910(Fh & et 1,708

131910(F R & KR 17 0 17| 0.045 63 62
131910(Fh & FE 58 0 56| 0.5 302 265
131910(F R & B[] 400 0 400 1 594 432
131910(Fh & ) 928 0 928| 10 3,132 1,080
131910(F R & TiE 80 0 75 5 2,700 2,592
131950(H & et 5,763

131950|H A & HE 275 0 175 5 1,728

131950(H & BSE 900 0 684 3 1,620 1,080
131950(A R & BB 252 0 252 3 1,296 648
131950|B A& BES 282 0 282 3 1,134 972
133400(L % % e 9,634

133400(L % 2 I, 270 0 270| 45 1,458

133400(L % % & 4,360 0 2,640 10 2,592 1,620
133400(L % 2 ES 1,500 0 1,500( 10 2,484 1,620
133400(L % % F=1iA 580 0 540 4 1,566 1,080
133400(L % 2 Rig 1,550 0 1,120 10 1,728 1,112
134100|#A/1 1 13,535

134100 |88/ S 3,075 0 2,845 5 2,916 1,998
134100 (&A1 = 1,170 0 800 5 2,700 1,782
134100 |88/ =l 8,150 0 7,410 5 2,916 2,214
134100|#A/1 BRS 1,140 0 1,040 5 2,538 2,106
134200|m M et 1,400

134200(F /1 A¥ 0 1,400 0 1,400 10 1,944 1,674
134300 (%6 F et 4,629

134300|50F r= 474 474 2 1,296 756
134300 (%6 7 Syt 3,740 2,966| 0.3 140 130
134400| k= b+ e 5,492




134400 b~ b BE 745 745 10 864

134400| k< b Rl 300 300 1 302

134400 b~ b REA 4,094 4,094 4 1,620 864
134500 &' —~ >~ ¥ 2,813

134500 "=~ ~ = Al 648 639 0.15 108 86
134500 &' —~ > = I 1,950 1,950 0.13 109 100
135100 WA F A ¥ 172

135100| W A 1T A = 72 52 2 3,132 2,700
135200|%= T3 104

135200|%= ANER L 60 54 2 2,484 1,080
1361001 A L & ¥ 13,125

136100(AA L & h¥= 6,480 6,345 5 1,728 324
1361001 A L & Ry 6,050 6,050 5 1,836 972
136200|E 5% TeE 6,780

136200| &5 timE 500 500 10 1,642 1,318
136200(F % R 4,700 4,700 10 2,182 1,490
136210| X —27 4 >~ ¥ 1,960

136210( X —7 1 ~ time 1,960 1,960 10 432

136300| 2% ¥ 2,450

136300(E3 i 2,300 1,500 10 3,780 1,620
136600|7- A & ¥ 5,675

136600|7z & time 4,195 4,195 20 3,391
136600|7-xa & BE 1,440 1,390 10 3,078 864
138100(& L W /o lF ¥ 1,850

138100|& L Wiz lF fig Ly 168 168] 0.08 81
138100(& L W /o lF BE 1,446 1,434 0.2 259 97
138500| L& LE ¥ 4,430

138500(L® LE g 4,402 3,797 0.2 92 72
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SH6FE2A3H (+mH)

LSS ENSEfashE: 348 b
(B ILHEREST)

BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
240700 @EINAN A |HEL 10,821
240700|Z@EIMNA N A | FFRWL 9,461 0 9,461| 10 4,536 1,188
240700 @EM AN A | EE 1,360 0 1,360 10 3,672 1,080
241300\ F 1 HE 4,994
241300\ F 1 iR 4,994 0 290 10 2,160 1,620
241320|/\#A HE 997
241320|/\#A AL 997 0 997| 10 2,700 2,160
241390[IF A D A HE 8,441
241390|IF A B A iR 7,500 0 4,200 10 3,780 1,080
241470 = A DA e 671
241470| & A D A =y 660 0 660 4 2,333 1,944
241481|F aR v Hh A |HH 1,548
241481|F aR > Hh A | FFL 1,235 0 1,235 5 3,240 2,376
242830|5 LW AT e 2,060
242830|3 LW AT EE 2,060 0 900 10 6,480 3,456
24600016 & HE 5,122
246000|L\B & & 236 144 92| 0.25 594 227 594 324
24600016 & &I 233 0 210 0.3 594 432
246000|L\B & &6 815 0 492 0.27 594 270
24600016 & (= 4 0 0| 0.22
246000|L\B & RI& 1,005 0 844| 0.25 486 270
24600016 & BE 2,520 0 1,290 0.25 486 270
246000|L\B & = I 310 0 187| 0.25 432 292
247100| 7 — L2 X O |## 120




[ 2471007 -z x0> | M@ | | 120| 0| 1200 9 | | | | 23,760 | 8640




